

Derivatives of Inverse Trigonometric Functions

$$\frac{d}{dx} \sin^{-1} x = \frac{1}{\sqrt{1-x^2}}$$

$$\frac{d}{dx} \cos^{-1} x = -\frac{1}{\sqrt{1-x^2}}$$

$$\frac{d}{dx} \tan^{-1} x = \frac{1}{1+x^2}$$

eg1 $y = \cos^{-1}(x^2)$

$$\frac{dy}{dx} = -\frac{1}{\sqrt{1-(x^2)^2}} \frac{d}{dx} x^2$$

$$= \frac{-2x}{\sqrt{1-x^4}}$$

eg2 $y = (1+x^2)\tan^{-1}x$

$$\frac{dy}{dx} = \frac{1+x^2}{1+x^2} + 2x \tan^{-1}x$$

$$= 1 + 2x \tan^{-1}x$$

$$fg' + gf'$$

$$f = (1+x^2)$$

$$g = \tan^{-1}x$$

$$f' = 2x$$

$$g' = \frac{1}{1+x^2}$$

eg³ $y = \frac{\sin^{-1}x}{\cos^{-1}x}$

$$\frac{gf' - fg'}{g^2}$$

$$\frac{dy}{dx} = \frac{\cos^{-1}x \left(\frac{1}{\sqrt{1-x^2}} \right) - \sin^{-1}x \left(-\frac{1}{\sqrt{1-x^2}} \right)}{(\cos^{-1}x)^2}$$

$$f = \sin^{-1}x$$
$$f' = \frac{1}{\sqrt{1-x^2}}$$

$$g = \cos^{-1}x$$

$$g' = -\frac{1}{\sqrt{1-x^2}}$$

$$= \frac{\frac{\cos^{-1}x}{\sqrt{1-x^2}} - \frac{-\sin^{-1}x}{\sqrt{1-x^2}}}{(\cos^{-1}x)^2}$$

$$= \frac{\cos^{-1}x + \sin^{-1}x}{(\cos^{-1}x)^2 \sqrt{1-x^2}}$$

Page 339 # 1acegikmo, 2